238 & 1O o  oelonong
240)  P(1A) P(FIH) = .3 (15) =.0%5
o@w) PEIN) 2 = A o5) = . 015
P (Fanu) =\

- = ‘A chance ‘-"2 ‘C‘tnd
P(Fleod)= . 615+ 025\ =[Z] SH20% <

'?.:_.‘i'?) % (de\wr dseased bree) = P(A) + 9(%—-—& = %+ ?(Wi)?@c)
a) DAk ar independent ..
P (daledk) = B + (A)2)=].98)

0) Pldedeched by | device) = PLAR) + P(OA)

= (Y- + GO =

QA ? (locatng Sisemed trec) P(ha) PN P(E) « P(6,)P (8P (R + PC4E )
Wnere P (Ro) = deledor X dedecked 1k D)= Jeechor X loented i}

?L\m&-‘mg\ = %Cq‘) (Y~ (’L)(_ﬂ) (- n +.8(.4) = . 848 ‘

3.\) e . |

4) Xs0 3 PCAST) = (1-.08)(1-.8)(1-2) = 0.0f |
X2\ g R(ABC) ~ P(RBT) ¢ P(RB ) = 0.42|
¥=2 ¢ P(avZ) + P(ABC) « P(R®C) - 0. 42]

x=3- P(ABC) = (-3)(-9)(2) = Q.0%|
S NN —\ POF | ) ChF
L
) g+ AL 4
(0% !.
¥ L1 o J
o } Z =3 A



30 cm-l-muf_._) ) ?Q{_—_:{) = 42+ .91 + .8 » j_z_._j

A) P(oeXel) = 4ol - 84 |

3.\z§ %) )

Mode K - 360 velncles 1

Xé) \\) Man @ <D = S ?“Qlﬁ)d)k ng-’b . (‘0“) AK + S\::X QZQL)J)(

Where, Q(.ﬂ -.:"'\\ ) Q(X} -? X'i'““rp

Where Ya b (300) + V4 (p)(,too) = dwe to normalization =) Pﬂ
(X7 = S (-674165) x? *S T Brt) xte Lolx dx

= \50-G\l + oo = 2373 Carfs |

N . 0 Xgo ‘ .
W tedian | e (A ) = Xo‘ L. dx 4 (note, s is Srom e Sack
LT x fys ~thek oy in Spection we Kyl
Fx(xsb""‘rb" lf;g_b' (K;,) he median is in fegion l)

D Xge = 245 cars |

“V) ¥ (Xao) = 9= XSM'F.(X)dx + K;D £2 (X)d)ﬂ
D Hx -8 51 x e AW X -3 a0
Keo = 337} cars [

‘ Yoo
assacialed Proba b'i,h-&ﬂs of exceedane - 3& ‘Q CX)AK

) Xa200 R (X>%) - 08
D 0.1y P (Krw) = 0.54k
*i;;\ Xg; z 145 i by definition P(X>K$a\ =.5
W) Xeo =337 ; by delindben P(x >Keo) = . |

b) P(300) = VYalke) () = . 5
P(2350) = V2 (50) (e ). 60z

Plexcead) = . 2(-25) +-8(0625) = .t 5 |o%]|

@



5.\4) o.,) XS = Zl % BX) - 100,000 1505} +6(0.3) « Ve ]
= 4530, o0

b) &%- Var (X) = ‘%‘ 160, 066 [CS-S-’-})’I'(-S)+(6~5_‘.})&(-3)....2(}-5‘})2(-1)]
= g5 Gl xlot
oxlo" = Joirpe 38000 \

A

319) known whe & M=30 ; F(46)2.9 B Xao= 4O
g S = 4= () - 45(“*‘)4
S |A85: RA o o750 = 776 day]
¥ P(xe50)= ¢ (5"?’3;;) - &(251) = ¢.9949
W) P(xe6)l= ¢ (9533) = $(3:450) = |- dbGsse)= |- 949142 - Sgwlo™

The probabilily 1 soéicently small Wt o formal elisdriby ton -
ton 0o considered a remsonglole e pproximedtion.

t 2
C«) S-'-\-'-‘-g—‘:‘--a ) 722 n (Ho’dﬁ) ; A‘;‘n/u_\fz‘?
Zz,\ (Hi:z )_-. C.Sxle™t =3 = .155 Lﬁic(

sz B3t L L, b(er)= 98344 - - P (x£50))

_5__'3%) Laxoeomal distabaieny =20 ; (OV= Fp j:f’.zc;z
?’L-: \n("" 0'%1) = (n(\.;. 56/’50?-)2 0.0392 =) §= 9godz. 1
A= lnu-Yef" = 338159

) P (U0 = adequnte | = P(H»3q) < (b("‘s" -4 ):1&(1‘-&?}-}) = |-92 = 0.0 |
b _ nSY A "
) 2 (442 H739) = ¢ ( e )-¢ ‘-—"—}2) = «05%
PH&UY] Hr34) = P(4uZH>3R) _ _.o56 5% |
P(H >349) ét,(ini‘iv?l) ~ = O 1'21




352U N ore ! Rwere are  Sevem Ways o de Ahig ??b\olem’)'

) plot b deble and §F o Lot Ao obtain
A tonknvous Ashriberon an de A @looleton
LSING AOMericol meknods o Witenrale .

2) Plov e Yeble and nofice et Uk closely nesembles g
nomal  dustrileotion | and use e prperdiel «f & Normal

M4 butien (m\cu\akﬁ a4 and &Y o Ao e ‘?‘b\hbl’i%l
aldcolations . (can atse Use biumial disd. onee Yoo hawe pﬁ)
5) B Ratl AeQue o Cailus” riferion and Yhen
Bnd e pobabilily oF Gallae fm the experiment«] data
AN SRy drear Veom a5 Betnesll( bryls using 4he
binamial dsdnbebten o calewlate e prbabilites.

Lﬂ delire o “Lailure® Criterion and “hen find e &ilore
e Srom Ao enerimentel dota and apply Ave
Poission dsheiburian Yo £ind  Yhe rekxaly fites .

3 .
Tn Wese Sbtions T «ill e tlin mebhad Sty o ssWe e problem .

W alse ke 218
A) * ocsrances X 286 3 0.\5) =) Pﬁm Method 4 ]
Zoyears = ©7 s T )

b) n e Next W0 Yeas, o {)x(l- Y\-;c %) .
P(X=2) - (‘;) (,.e.ts)sé\-c.m" = 0.\1498% | YWI ¥ Giranic)

Q) PX2\ fe Byma like) = V= (0) = - () (-89 = ¢.3859]

A) & Taloe" 5.v=85 ghy Wen 0= = o5
P21 Cor 3 years) = \-(xe) = |- (3) (1-.03) = 0.1426)



